WA x - dx 3= 0] HE PohE?

D x=1x=-1+2i @ x=-1,x=1+2i
® x=1,x=-1+ 2 @ x=-1,x=1=+ V2
® x=1



2.

AP AA] 1t - 2x° 4 2% +2x -3 =0 & EW?

® x==+1, x=1= V3i
® x=4+2, x=3=+ V2i

@ x=+2, x=1=+ V3i
@ x=+2, x=1+ V2



-3 432 +x-6=0




4. APMRA 6 4200 420 - 20 -3 =09 BE o] $FL

D -2+2i @ +2i ® -2
@ -1 OR!



AP 432210 = 09] B

@ 1 ® 2

® 0



WA 3 —x2 +ax—1=09] g o] -1 off, A== ¢ 9] 3t Y7
D a=31++V2 @ a=-3,1+V2

® a=3,1+V3 @ a=-3,1+ V3
® a=-1,1+V2



AP A 2x3 — 7x2 + 11x+ 13 = 09] Al 22 a, B, yE2L T o,
o2 O, L), Eholl S 32 A= & 29

Ma+B+y
W B+ By + ya
Eh aBy

7 1 13 7 13 11 13 7 11
e
Y3 993



PH? (@

]

O
=

o, w? + @ 9] &

SH
=

®1 @ 2 ® 3

@0



A xt—ax’ +8-a =00l A2 O Yl 7o A= 7HE of, A

7

Kl

9.

@ 25 ® 23 @ 18 ® 13

® 30



10.

@ 17



oW BRNA A, BO| ¥ AES AL QUek. A ES] B
Pl Blstel 20 % 2K T, BAIES 25% Z7kskdc). 29 =
ol Adnc 167) Solut % 86742 W), 2hde] pAlEe] A4
o o7

e = 4l

( r‘o

ol

LA



=1

ofl A xy Q] Ft2 Fotolzt



13.

AHTEA

|

2x% +3xy -2y =0

x? +y2 =20

o+ B A TFohH?

® -8

@ -6

® -4

o #1E x = a, y = Bt

@ -2 ® 0

ok



x2 -y +6y-9=0

17 4] {
(x, y) & WS

a4

14.

(x=1)*+y* =2

Felzt.

I

ql



ol
S
A
T
<
Y

N
o

JJ
H

No

ol



4y +2x=0 --oee- ©

g4 =E8x=a, y=8
x2+y2+x+y:2 ...... @
=y, y=0Oleh. o] W, o B2 4y + 57 9] G Fotolel,

Ct -
=R



x2
+
2y2—
=4 °
=
171 @ 2]
A
]_
o]

T2k ] =
1
, k
e
=
7fch !
.o]
, k <
1ks 9]
e
7}.0
Zro.9

@
-10
@
-8

®
-6

@
-4

do
rd
>

® -2



L Fopoler,

SH= A x, v 9

=
=

Tt

m]

8xy

(*+1)(* +4)




AN P+ 2+ 14y -dy+4=0<

sholat.

q_

O
=

x—l—y94 ak



09

x+yo g

@_

= A x, vy 9

S

=
=

P4+y2-2y+1=021F

20.

® 2

1



-9,
-
T
I,
o
>,
=
[V}
|
Q
=
+
Q
_|_
[N}
[

® a0 o] 8 o|sto|th,

098] & o] % A7} 57 5h=



]

3071012 942 80

MEe 27, 37, 47 o A FFolh

Tor

ol

Njo
ol

N

o oEn EK

d
o
o|J

L
__OO

FE 2 Ae] 2

S

=
=

@ 10 3 11 @ 12 ® 13

@9



23. thg Al RS WAl FHS 7h ul, ab O] gL

B2 -5x+3=0,x>+2x°+ax+b=0x>+bx+a=0

0! g 8

9
® -1 @ 3 ® 1 T: T



24. AP - 5x3 4 8x% - 5x +1 =02 & FollA A
A 22 & pet & o, a - B9 227

dZ 2L,
® R

® 1-+5
@ 2-+5

® 3-15



25. A%7E %9 AR x4 26 + ax’ + by +15 = 09
1429 o), ol A 2 3 Ao

[ERNCRE= 6}3-%‘7

© 4 @ -3 ® 0 @ 3 ® 4

s
ry



d

=9
Aggaa VT s wase 2% (rny) O A
Wty +yP=7

9

@ o7 @ 174 @ 274 @ 374 ® 47Y



N
RN
N

=
>
rr

2

@ 174

ru

@ 27§

® 37

@ 47

® 570



28.

F oA AA X2 4+ kx+3=0,x>+x+3k=00°] &

A 1), - k9] Fe Fatolet,

B

o

of



@ +b*+c* =12, a+b+c=4°l JHD uf, c o] G 254k
w2 a, b, c= AF)

— 27T

8 4
©-- @-; ©

ol s
®
w| oo



30. A xyz7bx+y+z=2, 2+ +22 =14, 3+ +2=20&
ST o, x -2y + 29 F-E& FOHH? (H x<y<z)

D L
-



